ERERRENR EEEERR
[} | | N |
[} | | N |
[ § | [ B |
[} | | N |
[} | | N |
[ | |
[ |
A BEWNFRETINR
(HF4E88)
E_ SIS 2 A E
T 8 1t 8 2 =l
[ ]
[ ]
[ N | N
EEREERNR EEERERR




M
?i_:
o ~N o0 0o ~ w0 N

&89
&1 0
Zh1
& 2
&R 3
& 4

Ei1 5

RBEBWHALINR
SWHENR (8RP)

)<\

SWHENR (8AXK)

)<\

SWHRERR (BXR:TJ3D)

)<\

SECSHHEENRR (8BF)

><\

><\

FEESHEOMRREHM (8AXK)

><\

EIN:t

B

@
@
@
@
LBIESHALERR (BR:TJ32)
@
EBRRRIBSHEEEH (8BFK)
8

ENRERSHBILEH (8BXK)
HITESH

EEIREES
SEIMBDRFADERBERDHER
SEHBESHDEHE (8BF)
MER « ERBFIFEERR (8BF)

BisRl « Rl - SHEERERIFRERNR (8BF)




X B 3 8 E £ K KR (&)
1 28 PESE - BREDOKSH (8AK)
2EOREN | PESEOREY | BREDRSE
SH4ES AR 1,595 133 10
SHM3ESAR 1,621 110 10
BRI -26 23 0
BB -1.6% 209% 0.0%
2 TBEHRELIRR (8BP)
O KEHH 42t BOEEXILL -2 ( -45% )
O & ¥ 2 N BIEELL 2 A ( - )
OEEBEH 5N B0 -9 A ( -643% )
OBEEX 50 A BUEEXLL 16 A ( 471% )
3 RUEHOKR (88K (9 # 10 A)
(1) SEEERIFE I
B | 88 |tons| snE| 6sE| 2om| it
s4e| 3 0 1 0 4 1 9
a3 3 3 2 0 1 1 10
(2) S E AR DBEIBIZIRR (3) FHHEBRITESE
sERE| BK | Zom| st 1smT| B | 20t | SnE
sm4s| 3 6 0 9 sm4E| O 1 6 3 | 10
SHIFE[ 4 6 @) 10 SH3E| 1 @) 2 7 10
(4) REERIBES K
B35 | BGE| pen | BED| Zofke] st
amaw| A 0 9 0 o | 10
+73E| 5 0 5 0 o | 10
(5) BERYERIREHEY BRI 4 WAy S
O~6i5|6~1285| 12~1886% 18~24E§" =t
e lE 1 4 1 9
sf3%[ O 2 4 4 | 10
6) 1 BEEDEUHER
15T BE | 2ot S| F8 | 3
a4 O 2 5 2 0 9
73| O 1 6 3 o | 10
(7) BEFESDRR  AFE 3N BIE T A
7 BER 1 JREERI
B [ ®m [ 3 B35 | B85S | pe | 20t 3
amas| 2 1 3 a4 A 0 2 0 3
SHI3E[ 4 3 7 SHN3E| 4 @) 3 O e




REBEEWELEINR (88F) (BR2)
1 REIRNR
(1)EF © RBRBIAR
2] P N Xn] B m =5
o il e s NN T =T
45 42 2 5 50 45 38 1 4 1 42 2
3% 44 0 14 34 3% 36 0 8 @) 44 0
& -2 2 -9 16 ISR 2 1 -4 1 -2 2
BER (-45%| - |-643%|471% EER|56%| - |-B500%| - |-45%| -
(2 (%) pIRESHFEEINT
S | B | 8988 | BN | B5 [=wAw| XF | B8 | 2R [53%E]| &3
45 12 0] 1 2 8 2 13 2 1 1 42
REHE| 3F 12 1 1 O 8 1 14 4 1 2 44
1B 0] -1 0] 2 0O 1 -1 -2 (@) 1 -2
45 1 0] 0] O 1 O O O O O 2
BEH | 3% 0] 0] 0] O O O O 0O 0O O O
1B 1 0] 0] O 1 O O 0O 0O O 2
45 14 0] 1 2 12 3 17 2 1 3 55
8EEH| 35 13 1 1 O 9 2 14 4 1 3 48
18N 1 -1 0] 2 3 1 3 -2 O O 7
2 EE%%U?%E#F%&U?E%@
55 Gl _ME =5 B2 |mame| s | 2ot E
45 9 O 11 14 1 7 42
M 3 8 2 13 14 O 7 44
183N 1 -2 -2 O 1 O -2
45 2 O O O O @) 2
EEH 34 0] O O O O O O
183N 2 0] O O O O 2
3 FHnRI S OMARERISE B EY
XD|15% |16~ |25~ |30~ |40~ |50~ |60~ | 65% A = i
JRAE M| 24| 2om| som| aom| som| eam| wr| TE|E 8| WA
BE)E & 1 1
—igeEinp 1 1
BWMEEDP
Bé#rs AP
s 17 B
ZDf (SARBE)
=) 5t 1 1 2
B O X
Z[] F
4 FUESHCRTDE 1 BBESOFTURISOIREERIEFE
Xo|(15% |16~ |25~ (30~ [40~ |50~ |60~ | 65%% A = .
IRRE K| 2am| com| som| aom| som| eam| mr| T T FT|WAUK|E
EEIEDELTRus 1 1 2
_bmEnEErp
Bi#rs AP
ZDf (SARBE)
a5 Hi 1 1 2
B O X
Z[] &




RESHAEERRE (8AXK) (BH3)
1 FEEIRKR 2 EBRIREHERUNEE
NG b e o~ _ﬂ@’é%ﬁ 855 |rwwe| mea| zomn| a3t
A% | 376 10| 65| 368 4% | 99 161136 | 90 21 333|376
3% | 395 10] 86| 355 rEmr| 3% | 100 111139 | 109 1 35 [[ 395
EEE| -19 Ol -21 13 & -1 5 -3 -19 1 -2 -19
18R -4.8%| 0.0%| -24.4%| 3.7% 4 4 4 0] 1 O 1 10
5813 454120 82| 454 WEH| 3IF 3 1 3 2 O 1 10
&I 1 3 -3 -1 0] O O
3 E (X)) IRESEHEENT
B | 20z | 2958 | BN | B [=axw| ¥F | 28 | 218 |s&| &3
4% | 110 6 4 5 78 8| 120 21 10 14| 376
FEEHEN 3% | 115 5 5 4| 62 151 150 22 5 12| 395
&L -5 1 -1 1 16 -7 -30 -1 5 2 -19
45 1 O O 0] 1 0] 1 3 1 3 10
BB 3T 2 O O O 2 1 1 3 O 1 10
1R -1 O O O -1 -1 O O 1 2 O
45 | 134 8 6 5 89 10| 135 22 9 15| 433
BIEEH 3% | 129 7 6 41 70 17| 166 21 6 15| 441
1R 5 1 O 1 19 -7l -31 1 3 0] -8
4  BRIFEEINT
18| 2B | 3B| 48| 58| 68| 7B | 88| 9B [10R[118|128| &5
12 49 39 53 42 56| 48| 47| 42 376
lg= 1 1 2 2 1 1 2 10
BIEEH 60| 41 59| 44 68 54 | 52 55 433
5 FplROYARERIDIEEE
X9 |15 [16~ [25~ [30~ |40~ |50~ |60~ | 65%% e e
JRRE MR 24m| 29| 39m| 49%| 59m% | 64m| WML A || Bat | WA &
SEJIEPEEIRas 1 1 1 1 2 6160.0% 3
—RE&Esn 1 2 3]300% 2
BElEED 0.0%
BersEAD 0.0%
s 7 B 1 1]100% 5
Z0t (SR 0.0%
=] 5t 1 1 2 1 1 1 3 10[1000%| 10
B R X |0.0%|100%[100%|200%|100%|10.0%|10.0%|30.0%| 0.0%|1000%
1] =S 1 1 1 4 10
6 MUESEWCRITDE1 BEBDFERI S OIARERIH £
XD|15m% |16~ |25~ [30~ |40~ |50~ |60~ | 65 ~ = i
JRRE MR 24| 29| 39| 49| som| e4m| WM E ) SRR LG L
BE)s&E#rd 2 1 1 1 1 2 8188.9% 9
—iRE&sn 1 1{11.1% 1
BersEAD 0.0%
Z0t (568 0.0%
=] 5t 2 2 1 1 1 2 9]1000%| 10
B O R |100%|[222% 0.0%|222%|11.1%|11.1%|11.1%]|22.2%| 0.0%|[ 100.0%
1] =S 1 1 3 1 1 3 10




RBBWALEINR (AR T32) (ER4)

1 FEEIRNR
M B BEEH BISEH
500 14 100 500
454 454
450 — 12 | g0 } 86 450 | —
395 12 r — _ 82
L 376 —
400 I=n 10 10 80 T 400 I"368 o
. 10 by M —
350 70 |65 350 | —
800 ¢ s I 60 | 300 }
250 1 50 } 250 }
200 | 6
40 } 200 }
150 } I
4 30 } 150 }
100 }
2t 20 100
50 }
10 } 50 |
O 1 1 O 1 1
HA4 HFI3 S5FE Hi4 HI3 S5FF 0 . . ] : :
- = =2 15 SHAE BFSE 5ETY B4 F DF3E 5ETY

2 PIERISEEHDINR

+ SH4AF8 AR + SHN3FE8 AR

z_w 5 nmo1
e A T L T

Sl BxR R BN B BEAU KF RBE Bl SFEK

S | 3R | BE | BN | BS |80 XTF | B8 | Bk |XREK| 55
[N4EBBXKR| 1 1 1 3 1 3 10
HHU3F8AXR| 2 2 1 1 3 1 10




SHBECBHAERR (8% (@ 5)
AZE ( o 10A) (BUEF[@ER 10t 10A )
HHE - BEEE » RV (R [Gliiz3) — THHEL « BEEEL « FBRVER (REF) [GIEES)
EnRK 3t 333%| 3A 300%] 1 1Al B = B A a44%| 4N 400%| 61 6A
£ 1 111%| 1A 100%] 2 2A| ® N 5] 5¢ s556%| 6A 600%] 4t 4A
B = B iE B 3 333%| 3A 300%] 2 2A
&2 58 B i B 3 333%| 3A 300%] 1 1A
= RN ] W B 8 21k 222%| 2 A 200%] 1 1A
31l = 11 111%] 1A 100%] 2t 2A| B K iE B8 1 1A
EEDN 1 1Al B A iE B 1% 1A
X F 1 111%] 1A 100%] 1 1A E iE B8 3t 3A
B B 21 222%| 3A 300%| 3t 3A T iE B 11 11.1%| 2N 200%) 1 1A
2 IR 11 114%] 1A 100% B W E & 9 BA 600%|B%ED 3A|B@FEPp
5 2 e B - B én P | 3L s00%|m 2\ |me
B £ & At 444%| 4N 400%| 11 AN E BE oW @ E P
8 8 3 333%] 4N 400%] 3t 3BA|| sz | B I E T B P - &R
i [55 o5 | 1t 111%] 1A 100w 18 1A = 5 7B 1A 100% N
Bl g & 3 3A ZDM (SA8)
REENEE] 11 111%] 1A 100%] 2 2A 15 ®% MU T 55 1A
Z D 11 11.1%] 1A 100%] 1 1A 55 INFE R 1A
| ZERA - SE ] 3#F 333%| 4N s00%] 4 4A P4
5 SERAN | 3fF 3% 4N 00%] 4fF 4N B8 (16~24%) | 1A 100%
e SERNE [55 20~24
ﬂ}ji BIRERE At 444%| 4N 400%] 3t 3A 25 ~ 29 &% 1A 100% @in
2 BIEN—T 2 222% 2A 200%] 3t 3A 30 =~ 2N 200% azn | 1A] @
ot 40 = 1A 100% @wIA
A | NEE@ETP 50 ﬁ 1A 100%
st [Ehe—-&) 11 11.1%] 1A 100%] 2 2A 57 60 ~ 64 m® 1A 100% an | 1A
B [#Elihe—-6 1 1A = 65 ® M Lt 3. 300% ain | TAl @o
o ITZ D ot 2A| = 55 BEEEHED 2N 2N
V5T 11 114%| 1A 100%] 5t SA|l # BZ - RihB&RD 1A
s @@z | ot 222%] 2A 200%] 1t 1A B BHEED
AN s [Er0m o2 A EEE e
w| m [BERB| oF 2204 3/ soon] 1 1A|| = 5 A Y N
al B[ = 55 W@ - EBED
Bl zofm B (5% 1A 2A] @
INET Al 444%| BA 500%| 4t 4N fEHip (r—H)
B W £ 4 A1 444%| 4N 400%) 11 1A Z O 2A| @i
] & ZDit |
A B8 L;g =] A 7N 700% 8A
g S & & i =] A\ 3A 300% 2N
a6 fal &8 13 g =] {3 10A 1000% A
E e & E Bl Z [ES 3A
A AR FER 15 % MU T
BEBITHE] 145 11.1%] 1A 100% 58 (16~247%) 21 222% 1
« |BEISTEHEE] 1 111%] 1A 100% [55  20~24 14
o d Ml A N 1 1A 25 ~ 29 ®
B = IR W7 U-HRIEL A 444%| 4N 400% = 30 A 2 222% 14
2 [FIARERE 3t BAll — 40 5 1 111% 3t
Al & (BB e % 50 R THE 111% T
% [R2rEn A £ [0 ~eam | 1
BHI|ZERE| 21 222%] 2A 200%] 1 1A & 65 ®m M £ 21 222% 3t
P Z o m i = 85
Z DM DER| 14 11.1%] 2A 200%] 4atr 4aA] B [ & EE 6l 667% of
X o5 S mw ERR 3 sa5% 11
00~02 THE 11.1%| 2K 200% i N
02~04 1# 11.1%| 1A 100% . 5 [E3 Offf 1000% T
04~06 11 11.1%] 1A 100% ,l%iu o4 [E3 3
06~08 N 85
08~10 1 111% 1N 100%) 1 1A
B_fo~12 RPN
8l 12~14 1 111%] 1A 100%] 3 3A
14~16 21 222% 2A 200%) 1+ 1A
16~18 1 111%] 1A 100%
18~20 4 AN
20~22
22~24 1 114%] 1A 100%




LBIECSHHALERR (BXR:TJ37)

1 ZERIJAME

(BN6)

OGR4 5

OGR3EF

DHAE | DHN3F
SR 3 1
5 IR 1 2
R
& R
el
BS 1 2
EB AU 1
K F 1 1
158 2 3
= IR 1
g st 9 10
2 BRI
BHA4AF | HHI3F
SRE
BSiE 4 1
El 3 3
! 3
B ¥ 8 1 2
Z Dt 1 1
g st 9 10
3 BRI
BH4AF | BHI3F
RERSE 3 4
85 B R 4 3
BEn-7° 2 3
< Ditt
g st 9 10
4 SHERERIHE
BIAE | HASE
A X & il 1 5
g @R 4 4
T 4 1
XyHIE
A 83
& st 9 10

o =SXRF B X &9 A BS BEAL XF BE 2R
1 OGR4 OBHIF
5
4 _
3t
2 t
1 I_H []
0 L
2RE B%8 ESpE] BE ThEfhE Z0ft
(&S oOGM4E oDH3F
5
4
3t
2 t
1t
)

RERE BIRBER BN Z0fth
61¢ oS4 5 oGR3F
5 t
4 t
3t
2t
1
0

AXTE@ ==qni) Z) =] ==ni=Shey PUETIL=)




5 SHURERINH

(1) AXISEHEE # BSH4F OBHIF
BH4E | BH3E
X » STBETD
B e —® 1 2 |
B PhE—-® 1
< D fth 2 ° 1@ D iRt Zof
& &t 1 5 i &—® E—®
BT
2) BMmiEREHN
= SHAT| BRGE e Oni4F  ORN3F
1IF & f& 28 2 1 3
= L) 58 2
S 2 1 2
B ’
Z D
8 3 4 4 0 L1
FEEzE H=0\58 Gl pERAS ZDH
6 JRRERIFEE
SHALE| SH3F A onil4%  O0TH3F
Ba)&Eir 6 3 8
B - RiERD 3 2 6
Bl EP 4
BérsEAD 5
s 17 B 1 5 I I |
=RB O
%O)E(Ej 2l EEIE 8= BEd  B8%nE SFE 0 2o
=l 10| 10 EED B a0 (=769
Bonch
7 BRERBIEE
a5F045E OFBF3E
SHAE| S35 - - - -
EES®m a8 Eomn
E {'ﬁ” E ?— L&D
2= 2 E RERE
Lotax t)] x ¥ ,%\ FOARER |
Broenlhs| BB [—
BSOS mE 1 Ty
—BFARE=ELE 1 —BREL —
= [ 4 R o
5 |worzE 3 - —— |
Ei HRTE E TS |
i iim L T o 0 ) m—]
= | mEEE 2 1 e PP e m—
720 % o]
%mfdﬂ)ﬁg& L 4 ZOMDER )
= B |
S af 9] 10 T

# O




8 RIBIEE
I3 0545 oBH3F
SHAE| B35 5
0O0~02 1
02~04 1
04~06 5 “ ]
06~08
08~10 1 1 3 ]
10~12 1
12~14 1 3 21
14~16 2 1
16~18 1 1t
22 O A A
20N22 © b-2 o ;1—6 573-710 o 7‘12— o 7176— 20- -
22~24 1 2-4 6-8 10- 14 14- 18 18 22 22-
S E.I. 9 10 12 16 20 24
o EWAIHH
RS04 ORF3E
BHAF | HH3F RS — |
R B 4 6
= =T 2 - —
5 st 9] 10 £ 0 2 3 4 5 6 7
10 BEBRMHH
Py P #F 0Sf4E OoRHSHE
5 3| 2 N
7K 1 >
X 1
v 3 1
S I | Hlini
& &t 9] 10 0 — -
= B W 7k PN & t+
11 EHBRIEEH
A oS4 E  0HH3HE
S[H4F| BHI3F 8
15 MU T 1 B
16 ~ 24 &% 1 6 |
25 ~ 29 % 1
30 (A" 2 1 4
40 (A" 1
50 (A" 1 21
SO~ BAm 1] nim o lhle n lm
65 Aﬁ l;x J: 3 4 ° 15m% 16 25 30 40 50 60 65%
8 &f 10| 10 BT~ ~ ® £ ®r ~  ME
24 29 64




12 G5mIUEIRRERIFEER

SHAE| SHN3F
BEE&HnP| 2 2
B - Ri)8%ED 1
BEWmEEP
BiEEAP
S 13 & 1 4
Z Dt
g 5t 3 ’
13 BLRIFEEH
BHAE| SN3E
5 10 ’
24 3
5 &f 10 10

A 05F4F ODH3IF
5
4 L
3 L
2 L
1}
5 [
EEiE B= =11 EERE S35 Z0Hs
Esrh =20 BEG FEMAD (ST
el orles)
545 oRF3EF
S
54 ]
A0 2 4 6 8

BDH45F 0[F3F

AO 2 4 6 8 10
s 05048 OoDR3F
4
3 — —
2
| [
O S - S - L L
15 16 25 30 40 50 60 65m% A8
M ~ ~ [ ~ N ~ ME
24 29 64
. B5F4F 0[BT
% -
zr ]
B8 [
#0 2 4 6 8 10

14 8NN - BHBIEEH
BHAF | BHI3F
2 A 7 8
s S 3 2
5 &t 101 10
15 $£13538
1) F#ER!
BHA4AF | BHI3F
15 m M F
16 ~ 24 =% 2 1
25 ~ 29 %
30 A" 2 1
40 A" 1 3
50 A" 1 1
60 ~ 64 & 1 1
65 m M £ 2 3
A B4
g st 9] 10
(2) BLA!
B4 | HRO3E
5 9 7
24 3
A 83
=l 91 10
(3) BN - B E{ER!
HHAF | BH3F
8 N 6 9
2 5 3 1
A 88
& st 91 10

BTH45 0[FH3EF

=54
ReA

#0




LB OHMGER (8BFK) (BRT)
SH4E88318  IRE
ETA AD SRELERD o= BT
1 =) 10,667 | EK28F683H 2,280 3
2| Bmb 187,387|8f4E88298 2 19
3| /\mE 15626|5f 158898 1,118 7
4 Erd 2, (1| Ek21F11 848 4,683 1
5 =pEL) 6,260|H M1 EFE7H408 1,154 6
6| 2EuEE 15952|8f4E 68218 71 17
e =8 5923 | Ek29F 128908 1,726 4
8 == 45869|HMM3F1088H 327 11
9 |45 14188|5 M4 58888 23 18
10 Z8E 1607415 MM3F589H 479 10
11 NWE 15145|553%F11 8308 274 13
12| B5EN 3535 |H M1EFE108228 1,044 8
13 KFmh 146,857 |%M4F18188 225 14
14 FASRE] 10,204 |55/ 25%11 888 661 9
15 EEm 32421 |=m MM4E5818 122 15
16 BEH 10,604 |55/3%F11 8288 276 12
17 pNii:) 20602 Ek245F 78108 3,704 2
18 BEE 2824|3151 8148 1,325 5
19 Bmi 40903 MM4F58168 107 16
AO&E 549,002| A

ADE, BA3F1081BIREDHSTAD




;e NMERNXRX &= NIKBBHR (8 AXK) (BRS8)
HA4FEE8 X
08H01H ~ 31H 01H01H ~ 08H31H
) E%E FNGE | B | HEECE | A e
X B ﬁﬁ i‘Eli/"‘” i“aj"\%i L Eﬁ JEb K YR 2
AL M 6 5 1 20.0 39 37 2 5.4
I T 1 -1 -100.0 3 10 —7 -70.0
e ETT 2 4 2| -50.0 14 12 2 16.7
fg A% 2 1 [ 100.0 9 17 5 =357
e EA 1 1 0 0.0 2 5 -3 —60.0
7 11 12 -1 8.3 67 ] 78 -11 44 -14.1 32
S 1 7 — 20 31 15 5 9] 33.3 7
| a2 F 2 3 -1 -33.3 17 38 16 1 18 6.3 13
EE 4 5 -1 -20.0 22 27 30 -8 39 -26.7 42
K _H 4 1 3] 300.0 18 34 20 -2 271 -10.0 28
L e 3 1 2] 200.0 15 41 15 0 21 0.0 21
It L& 5 3 5 -2]-40.0 25 22 29 —/ 34 -13.8 31
7 20 15 5 33.3 117 125 -8 6.4
EaS 11 3 = 154 30 7 81 -1 2 1.2 o7
K IR 9 12 3] -25.0 47 10 49 -9 27 —4.1 27
(BN 5 5 0 0.0 32 18 39 —7 36| -17.9 37
B[ RE & 4 6 -2] -33.3 27 21 39 -12 45| -30.8 45
B E 7 6 1 16.7 68 7 76 -8 39| -10.5 29
T 1 8 4 4] 100.0 76 5 72 4 11 5.6 16
)] 6 9 -3 -33.3 70 6 79 -9 2] -11.4 30
ETR 5 4 1 25.0 30 19 31 -1 24 -3.2 25
ITE 2 2 — 17 38 20 -3 29 -15.0 35
wmLE B 7 2 5  250.0 34 15 26 8 5 30.8 8
& il 7 10 -3 -30.0 39 14 54 -15 16 -27.8 43
& 60 58 2 3.4 440 485 —45 - -9.3
& Il 1 2 -1 -50.0 20 31 19 1 18 5.3 17
N I 2 1 1] 100.0 15 41 11 4 11 36.4 6
& I 4 2 2| 100.0 21 28 13 8 5 61.5 3
I, B 6 6 0 0.0 44 13 42 2 14 1.8 18
= 7 4 3 75.0 87 2 68 19 1 27.9 9
w| = & 7 4 3 75.0 34 15 32 2 14 6.3 13
5 27 19 ] 42.1 221 185 36 - 19.5
B A 3 1 2] 200.0 24 24 24 0 21 0.0 21
il IR 3 2 1 50.0 23 26 31 -8 39] -25.8 41
X PR 16 10 6 60.0 96 1 94 2 14 2.1 20
ft JE 11 7 4 57.1 83 3 68 15 3 22.1 12
= B 4 3 1 33.3 21 28 17 4 11 23.5 11
e | ROk 4 4 0 0.0 15 41 22 -7 36] -31.8 46
5 41 27 14 51.9 262 256 6 2.3
B H 2 2 — 10 47 10 0 21 0.0 21
FlE R 0 — 11 46 5 6 8] 120.0 1
] 1L 6 3 3] 100.0 48 9 30 18 2 60.0 4
N 8 4 4] 100.0 46 11 14 2 14 4.5 19
TS 2 2 0 0.0 18 34 21 -3 29 -14.3 33
B 18 9 9] 100.0 133 110 23 - 20.9
[, 2 4 -2 -50.0 13 44 22 -9 42] -40.9 47
miE i 1 4 -3 -75.0 21 28 27 —6 35| -22.2 40
Bl 3 3 0 0.0 28 20 29 -1 24 -3.4 26
= A 0 — 16 40 19 -3 29 -15.8 36
7 6 11 -5 -45.5 78 97 -19 [ -19.6
[l 10 14 —4 -28.6 46 11 6/ -18 17 —28.1 17
= A 1 1 0 0.0 12 45 15 -3 29 =20.0 38
L E i 3 1 2| 200.0 18 34 17 1 18 5.9 15
JE K 5 1 4] 400.0 34 15 24 10 4 41.7 5
X & 3 1 2] 200.0 18 34 21 -3 29 -14.3 33
'R 6 3 3] 100.0 20 31 12 8 5 66.7 2
PN B 6 6 0 0.0 25 22 32 —7 36]  -21.9 39
IR 2 2 0 0.0 24 24 19 5 9 26.3 10
i 36 29 7 24.1 197 - 204 -7 -3.4
aat 230 193 37 19.2] 1,595 1,621 -26 -1.6




B} e N 8 Bl 5 i & % &R (8 8B XK ) EHO
HAAES8 /R
08H01H ~ 31H 01H01H ~ 08H31H
B A B
. - N .
X H:f IﬂE—\‘ ZIKQE H'Jﬁz i%ﬂﬁ,@f& i%'{ﬁ’ﬂ'ﬂ ZIKEE J”E 'ﬁl FJ'JJ@'5 %YBZ%Z _ i‘%?ﬁ’gfﬁ _
_ JIE 7 JIE {7
AL R 4 3 [ 333 24 23 1 4.3
1 K fE 1 -1| -100.0 2 5 -3 —60.0
. JE )1 1 2 -1 -50.0 8 7 1 14.3
o 8l 1 1 -1| -100.0 4 12 -8 —66.7
e B[] 0 — 3 3 ~100.0
7 5 7 -2 -28.6 38 4 50 -12 47 —24.0 39
= & 3 3 — 10 37 11 =) 24| 9.1 28
w|la F 1 2 -1 -50.0 11 34 9 2 13 22.2 11
EER 1 3 -2 -66.7 11 34 19 -8 3] -42.1 44
K H 4 1 3] 300.0 12 28 15 -3 32 -20.0 38
I 3 1 2] 200.0 12 28 9 3 9 33.3 10
lfE & 2 1 1[ 100.0 17 22 14 3 9 21.4 13
g 14 8 6]  75.0 73 77 —4 -5.2
E: 6 2 [ 200.0 32 7 31 =) 29 5.9 24
K_ IR 4 7 -3 -42.9 25 12 29 —4 35| -13.8 33
TES 4 4 0 0.0 22 15 20 2 13 10.0 15
B B 2 2 0 0.0 18 20 26 -8 43  -30.8 42
B E 7 2 5] 250.0 46 1 44 2 13 4.5 20
T % 5 3 2 66.7 37 5 44 —7 41| -15.9 34
1) 3 4 -1 -25.0 26 9 37 -11 46| -29.7 11
I 2 2 0 0.0 19 19 14 5 5 35.7 9
ITE 0 — 11 34 9 2 13 22.2 11
wlE W 3 1 2] 200.0 18 20 13 5 5 38.5 8
£ [ 3 3 0 0.0 23 14 25 -2 29 -8.0 27
7 33 28 5]  17.9 245 - 261 -16 6.1
= 1 -1] -100.0 12 28 11 1 19 9.1 16
F A 2 2 — 10 37 6 4 ] 66.7 4
f& 4 1 3] 300.0 15 24 8 7 3 87.5 2
I B 2 3 -1 -33.3 27 8 25 2 13 8.0 17
= A 1 1 0 0.0 40 3 44 —4 35 9.1 28
wl = & 3 3 0 0.0 21 16 21 0 22 0.0 22
7 12 9 3] 33.3 125 - 115 10 8.7
B A 2 1 1| 100.0 16 23 11 5 5 45.5 6
il ISR 2 2 — 15 24 14 1 19 7.1 18
K B 5 7 -2] -28.6 34 6 42 -8 431 -19.0 37
o i 6 4 2 50.0 46 1 43 3 9 7.0 19
= B 2 3 -1 -33.3 9 42 10 -1 24 -10.0 31
& | Foakil 3 2 1 50.0 9 42 16 -7 41 -43.8 45
& 20 17 3] 17.6 129 - 136 —7 5.1
5 I 1 1 — 3 47 7 —4 35] -57.1 47
e R 0 — 7 44 1 6 4] 600.0 1
i (L 3 3 — 26 9 14 12 1 85.7 3
Ji 5 5 3 2] 66.7 26 9 25 1 19 4.0 21
ITE] 0 — 12 28 12 0 22 0.0 22
H 9 3 6] 200.0 74 59 15 25.4
i 1 1 — 10 37 11 -1 24 -9.1 28
m| & 1 4 -3 -75.0 12 28 17 -5 40]  -29.4 40
S 2 3 -1 -33.3 21 16 19 2 13 10.5 14
= A 0 — 13 27 16 -3 32| -18.8 36
i 4 7 -3 -42.9 56 63 —7 [ -11.1
([ 6 5 1 20.0 24 13 27 -3 32 -11.1 32
A 1 -1] -100.0 6 45 10 — 35 -40.0 43
L E B 2 1 1| 100.0 12 28 13 -1 24 7.7 26
JE K 3 1 2] 200.0 21 16 13 8 2 61.5 5
K 1 1 — 10 37 12 -2 29 -16.7 35
G 3 2 1 50.0 10 37 7 3 9 42.9 7
I [ EEIR 3 3 0 0.0 15 24 16 -1 24 6.3 25
1 0 — 4 46 3 — 35 -50.0 46
i 18 13 5| 38.5 102 - 106 —4 - -3.8
aE 121 94 27 28.7 874 901 -27 -3.0




s 17 &8 F ™ (BR10)

1 @BWEERR ( 88 K ) 2 ABBEEEING ( 88 o)

1H# Lla=F= BIEEH 1 =g BIEEH

SH4E 49 1 49 SH4EF 6 0] 6

SH3EF 70 5 67 SH3EF 7 0] 7
1B -21 -4 -18 1B -1 0] -1
1B -300% | -80.0% | -26.9% 1@ -14.3% - -14.3%

X OREHHIISTENED OEBHN T, ESHAESHISTPOED
3 ARl (EED
18 28 38 45 548 643 7R 8H OB |108B|118|1 28| &3

SH4E 10 4 8 7 6 3 5 6 49

SH3FE 7 18 7 7 10 7 7 7 70

4 B5RIBI (HEED

o~2|2~4al4a~6]|6~8[8~10]10~12[12~14]14~16]16~18] 18~20]| 20~22[22~24] &3

SH4E O O 1 2 7 2 7 4 12 9 5 0 49
MR ER 00% | 00% | 20% | 41% |114.3%| 4.1% |14.3%| 8.2% |24.5%|18.4%|10.2%]| 0.0% ||100.0%

5 BIEWIABI (FED 6 B8Rl (HEED

= A ER 241 AR

DERE 23 46.9% e 8 16.3%

EE 13 26.5% 858 18 36.7%
ZDit 13 26.5% HETAES 23 469%

& it 49 100.0% 5 =t 49 100.0%

7 SHEEE (R 8 BBNHoMibE (GEEE)

14381 AR E AR 855 AR

XUEETT 1 2.0% 50mIM TR 0 0.0% 4 82%

BEBT 5 10.2% 100mIM T 0 0.0% 8 16.3%

NS 16 32.7% 500mIM TR 1 100.0% 7 14.3%

wi [ s 2 41% 1,000mIM T~ 0 0.0% 6 12.2%

S 7 14.3% 2,000mIM TR 0 0.0% 6 12.2%

B EERi s 4 82% 2,000mM 0 0.0% 18 36.7%

ZDH 14 28.6% SHEAEE 0 0.0% 0] 0.0%
&3 49 100.0% &3 1 100.0% 49 100.0%
9 ERER (BBES)
_ \ = . = | B - 2| .
Sl B | S| & [WE| ¢t | Byl x| 2| & [wow| € | &
S 17 = ) [l 1% z H o 2 ggel 2
il S IO Bl T 1%l Ul w | 2 w28 | s
18 ) # Wro| Wi 15 0 [s) 2| U °
Il 1 1 |20%| A 2
INSH 2 2 140%| 3 5
L4 0.0% 1 1
aRE 0.0%

ZDHESH 1 1 2 140%| 22 | 24
S 1 1 3 |60%| 15 || 18
&3 1 1 1 3 1 8 [160%] 42 | 50

EricapdmmEz | 125%)12.5%|125%|125%| - - - |375%|125%

10 PAIERIREIRR

B | 2R | B8 | BN | BS |z uw| XF | BB | Bk | 2% || &5

(==} 24 1 1 1 8 1 11 1 1 0] 49
EH O O O (0] (0] (0] 1 (0] (0] 0] 1
BIEEH 25 1 1 1 8 1 10 1 1 0] 49




B & & F o &8 1)
1 ESHETRRE (88 %X 2 TEBHMEERR (88 ® )
FEE REM | BEEN P REN | BBaN
SH4EF 50 0 50 B[R4 6 (0] 6
SI3EF 52 0 49 BAI3EF 6 (0] 5
1EEL -2 0 1 1EEL O (0] 1
1B -38% - 2.0% 1ERER 0.0% - 20.0%
% RAMHEEGRENEN - LBMC, HENaSEMEEGEEREDDED
3 BRI (D
18 2R 3R 48 5A4 68 78 88 98 |108B|118|128]| &3
B[R4 EF 3 3 9 4 8 10 ¢ 6 50
BIIEF 11 5 3 6 5 12 4 6 52
4 BSR9RI (B0
O~2|2~4|4~6|6~8|8~10|10~12|12~14|14~16[16~18[18~20|20~22|22~24| &t
B[R4 F 0 O O 5 14 4 10 3 6 5 3 0 50
R 00% | 0.0% | 0.0% [10.0%]|280%| 80% 120.0%| 6.0% |12.0%|10.0%| 6.0% | 0.0% [[100.0%
5 EIBMIARL (50 6 EIEBI (HE)
FEE AR FEE B
RERE 42 84.0% ESpE] 9 180%
=] 8 7 14.0% =] 18 36.0%
Zof 1 20% BENES 23 46.0%
= 5t 50 100.0% = st 50 100.0%
7 BEER (0 8 BBHoNEH (gD
FEE R s BRE | abs | BRE
SEIREOPN ) 0.0% 50mIF 0 - 0 0.0%
& IE @3 ) 0.0% 100mIULTF 0 - 2 40%
@ B2 2 4.0% 500mIUF 0 - 10 20.0%
B[ BaE 33 66.0% 1,000mIU T~ 0 - 12 24.0%
| ZDi 15 30.0% 2,000mIUF O - 10 20.0%
Bers iR ) 0.0% 2,000mM & O - 16 32.0%
B 0 0.0% HE b 0 B 0 00%
= 50 100.0% = 0 - 50 100.0%
O FEHER (GEES
- | | B . . | w | = - 2| .
E|lBluz|zxn| 2| 2| 2| =2]|E% |sugl E| s
w | 2 |52|F | 2 S N N - 2-r | -
Bl e | EltL]| % T BB o [¥35 C | °
ES B = Bt Iz
il
NFE 1 1 | 20 1
hFELE 1 1 2 40 5 7
aRE 1 3 1 5 100 7 12
ZDHFEL 4 2 3 1 10 200 12 22
SHE 2 1 3 6.0 5 8
=5 2 1 4 7 6 1 21 420 29 50
BrRIcandEnE| 95% | 4.8% |19.0%|33.3%| 0.0% | 0.0% | 0.0% [286%| 4.8%
10 FRiBRIFLIRR
BE | % | = | BN | BS [ZeAl] K7 | B8 | 2k | B2 || &5
2R 14 0] @] o] 8 1 21 6 0 0 50
EE O @) @] 0 o] 0 0 0 0 0 (0]
S 14 (0] (0] (0] 8 1 21 6 (0] (0] 50




BHEDRIADETBEHDRERS

1 SWHBA0 - SRhBERIFADDOER

(&1

2)

(ADISEF1081BIRTEDHETAD)

ToAF

P25

P26

POTE

PO

PO

F30%F

SE | 525

H35F

i B

at

157,197

161,774

166,084

169,439

171,530

173,562

175,389

176,499|177,046

177914

e

27.0%

28.0%

28.9%

29.7%

30.1%

30.7%

31.3%

31.8%| 32.3%

32.4%

a>

B #

100

103

106

108

109

110

112

112 113

113

A O

581,870

577,642

574,022

570,188

569,579

565,233

560,517

555663553407

549,002

i B

a K

74,823

80,882

86,279

90,017

93,560

96,747

99,960

102,240 104,701

107,008

e

19.5%

21.0%

22.4%

23.4%

24.4%

25.3%

26.3%

27.0%| 27.8%

285%

O>%d

B #

100

108

115

120

125

129

134

137 | 140

143

ERFFAD

384,555

385,303

385212

384,299

383,215

381,715

380,207

378,109|376,578

375,058

2 SEESHOHR

(T3213. ER24FDBIEBZ100E UEFRIEEH, )

(€i=E20)

160

SERTAD

=—9

140

SHEEH

120

100

80

60
BEHEE 1 SERIS /‘\\L"
40
BhasEy
20 : : : : : : : : :
YoAm WoSE Yoo YoTE WoSE WooE Y30E SiE  S2E DIE
247 | 25 | 26% | 274 | 28 | 20 | 0% | 7& | 2% | 3% | g

il seeeem | 248| 250 241 250 242 226] 220] 242[ 177 181 101
21 sz | 17.9%| 195%| 206%| 237%| 24.5%| 23.4%| 253%| 30.1%| 28.2%| 203%| 26.9%
s | m| 100| 101| o7| 101| o8| ot1| so| e8| 71| 7a
Bl me® | 16| 11| 20| 21| 11| 17 8| 20 sl 11 3
%) [Hnk | 533%]| 44.0% | 588%| 553% | 64.7% 65.4%| 40.0% | 64.5%| 47.1% | 57.9%| 300%
%l [ m| 100| 69| 125| 131| 69| 106| s0| 125| 50| 69
= aEsm | 262| 277| 266| 217| 224| 220| 192| 188| 130| 138| 66
S| [mE | 15:8%]| 17.1%| 18.3%| 17.4%| 18.0%| 18.9%| 18.7%| 19.6%| 17.4%| 19.9%| 15.2%
#w| [ m| 100| 106| 98| 83| s5| sa| 73| 72| s0| 53
2| ®AF® 1,389 |1,280 |1,168 | 1,053 | 987 | 965| 869 | 805| 628| 618| 376
s me®m | 30| 25| 34| 38| 17| 26| 20| 31| 17| 19| 10
B aEEn 1658|1619 [ 1,896 | 1,250 | 1,243 [ 1,162 | 1,020 | 957 | 749| 694 | 433

CE. SEHEBHOFEEMHEL.

SHEN'E 1 EBEDSH. HESHISHBNIE LIZARD




SmaEssSNOHEH (88 XK) (BH13)
1 B#E38HEERR
(1) FERR (2) BIRBISESEN
e | Em | ens REipE] e
45 101 3 66 ESpE] 17 24.6%
3% 124 7 90 3E] 29 42.0%
SEE | -23 -4 -24 EL:IENPE] ) 13.0%
BRI |-185%(-57.1%|-26.7% ZDit 14 203%
X RAEHNE, BHENBILFEOEH S5t | 69 | 1000%
TS E MBI EN TS LEAK
(3) FiERISEEM
BEY BB &85a P ) == ZHAW KF BB 2R =t &5t
EEH 1 1 1 3
BIEEH 22 3 16 2 16 3 1 3 66
(4) BRERIEEEL
0—2 | 2—-4 | 4-6 | 6—8 | 8-10(10—12(12—14|14—16|16—18|18—20|20—22|22—24| &5t
TS EE 3 9 12 13 10 15 7 69
TR 43% 1830% | 174% | 188% | 145% | 21.7% | 101% 100.0%
(5) BRAIFELL
% "
= = - i - EJ) L Z
= = i # . B ba] ES Z ~
bt Z 2 7 - 0 0 x ) 5t
8 £ = =) . )i x fig s
& 1E )3 * 8 = B
. =
HEL 9 8 6 5 13 7 23 21 9 101
BRER 89% 79% 59% 50% 129% | 69% 228% | 208% | 89% || 1000%
2 BEEERECBROEH
(1) BERR (2) 2EDOFTES
TES | s 7o | R B | s | HOELE
oy 10 3 1]300% 4% | 1595 874 548%
3F 10| 7| s[700% 3% | 1621 901|566%
8 of -4 -4 s | 26| 27
e -57.1%|-80.0% i | -1.6%)| -3.0%

X BRER=DH5356E/EBH




(3) FHpIEBHE

L\/{‘F 24% %@ﬂg IEJ@%\% 75%L>{J: -] D-I_
FEEH 1 6 3 1 10
FBRRER 10.0%| 60.0%| 30.0%| 33.3%|100.0%

(4) F—BBBOFEBISBEH

L\/{% 243—% %@fﬂl IEJ@TJ% 75%L>{J: O D+
25 2 5 > 1 o
KR 222%| 556%| 22.2%| 50.0%[1000%
- R %
(5) EEBIFEEH R oL Es oEEE
ee osas| B | m@wez| S5t 10
S 8 > 10| | 8}
SEREIE 2 1 8| | 0|
5575 1 1 5 |
SWHEDODEBAE | 250% 50.0%| 30.0% 0 I:I:—
B8 HETFHESE
N A PP e
(6) BEPRBIFEEH (RERIMTEEZSE) s
sEs | wm | zow | o3 o
68 4 6 10 Al
SEEHE i > 3 o\
5575 1 1 5
SEWEDOEBBE | 250%| 33.3% 30.0% RER 85 gacut
(7) IRRERIFEBH
S8E |B_FN| S0 | B8 | . p | 206 | o
B | EEg | @Ep | =Ad | 2P | G | B8
SEH 6 3 1 10
SHSHE 2 1 3
35758 1 1
SEBEDERE | 33.3% 100.0% 30.0%
REEE OSEE
B&)iE E¥xdp
BRI
[==Ini] [SE3=a
B%58 ZEAD
#13
ZDfth-
O 1 2 3 4 5 6 7 A




(8) BRBIFEEH

B | wmrg | st R oS DEEE
2EH 4 el 10 8
SE5HHE > 1 3 o
55758 1 1 ol
SWEOER= | 500%| 16.7%| 30.0% 21
(0]
=S rE
(9) HITIRRERIFEB
KA ot
85 | zot | st
-8 | B | BED
28 1 1
SEEHE 1 1
55758 L
SHEBEDERZE | 1000% 100.0%
)\2 DG BSENE DSER OSRE
1
@)
A HEEE 20t
sy ®-® )

BT




mBJA Rl « E2RZBRIELINR (8BXK) BR14)
B8 —tg= BSeRe
a3t 55 | 2ot
grn | BEe | Eme | gme | Eme | g
lalola|2lalslz|S|a|2|alS|a|Slalslz|s
& & |ave| 10|azs]| e|es2 63| 3| 17 50 1| a9 >
=z @m| 4 9 5 3 1
g m ml|iza| 3laa| 2|75 23| 1| s 14 27
NoE m| 5 7 4 3
mls o oe| A 1 1
2 mom
sxmwm| 16| 1|20] 1] 15 ) ) 1
= 5 @ 2 2 1 1
@le = |42 46 30 5 4 6 1
% m|21| 1|24] 1] 10 ) ) 1
= 5 @ 1 2 1 1
x w & 10 12 o 1 1 1
wlesen| s 5 4 1
% 7 wliiz| 1|27 69 19 10 19 1] 10
mowm o@| 3 3 ) 1
B OB m| 21 3| 22 11 10 4 2 1 6 1
sle = @ 7 7 6 1
I N @) 2 2 2
B B @
mom| 1| 1
5 EXj110 11134 68 21 1 6 14 25
- £l £ 6 8 4 3 1
= Bl 4 6 3 2 1
. w5 5 3 1 1
B =] 78 11 89 11 62 9 8 8 2
EBHB KAWL 8 10 6 2 1 1
g X F|120 11135 5 19 10 21 11 10
= El 21 3| 22 11 10 4 2 1 6 1
= IRl 10 1 9 1 8 1
)
= =®] 14 3| 15 3| 13 2




ESAl « BRI « BEFEERIREINRE (8ARK) (&EB15)

= = 3 ] SR
NI AR Slx|=|= 5 S22
Tlm|z|m|w|s|F|zls|lwl|2|88]y
f# #|376||110 6 4 5| 78 81120 | 21 10| 1449|315 ]| 12
=) 5 5 &| 10 1 1 1 3 1 3 1 5 4
8 B B|433|134 8 6 5| 89| 10135 | 22 9| 15| 49 |376 8
5 ]| 35| 11 1 5 2| 16 41 30 1
95 5 =) 1 1 1
g KB B 38| 12 1 6 3| 16 41 338 1
f# 8] 12| 11 1 1 11
295 5 =) 1 1 1
g KB B| 16| 15 1 1 15
f# E= 8 7 1 1 7
535 5 =]
g KB B| 10 7 3 1 9
i e S 9
1795 |5 =]
s B & o o )
i al 3 3 3
1802 [® &
s B B 3 3 3
" al o 4 5 9
1815 |5 =]
g B Bl 10 5 5 10
i al 4 4 ANE
3135 |5 =]
s B & 4 4 2| 2
(s ] 19 17 2 19
4315 | =] 2 2 2
g B Bl 24 23 1 24
i I
zot | =
g 5 =
i al 2 > 2
5 = s =
g8 B = 4 4 4
s | 16 3 1 12 11 5
8 g B =] 4 1 3 1 3
g & B 19 8 11 17 2
[as |l 58| 18 1 3| 20 1 9 3 3 51 51 2
B 75| =
=] g8 KB B 72| 24 2 3| 22 1 13 4 3 5| 65 2
Cl e |l 78| 26 3 1 15 2| 27 3 1 13| 64 1
- & = 8w =
g K& Bl 83| 30 4 1 19 21 28 3 1 13| 74 1
e |l 90| 24 1 1 17 3| 35 9 10| 80
m B & B =] 1 1 1
g8 KB B[101 28 1 1 21 4|1 35| 11 10| 91
(&S #l 33| 10 2 8 9 4 13| 17 3
z D ftt| 58 =] 1 1 1
g K& Bl 35| 10 2 8 12 3 13| 20 2




